ZAŁĄCZNIK B


modify (i7,0xfffffff0);

r2=m0;

dm(0xfffffff7,i6)=r2;

r2=i0;

dm(0xfffffff8,i6)=r2;

r2=i1;

dm(0xfffffff9,i6)=r2;

r2=i2;

dm(0xffffffef,i6)=r3;

dm(0xfffffff0,i6)=r5;

dm(0xfffffff1,i6)=r6;

dm(0xfffffff2,i6)=r7;

dm(0xfffffff3,i6)=r9;

dm(0xfffffff4,i6)=r10;

dm(0xfffffff5,i6)=r11;

dm (0xffffff6,i6)=r13;

dm (0xffffffa,i6)=r2;

r2=dm(_sample_count);

r12=0x4ce;

comp(r2,r12);

if ge jump (pc, 0x25);

r12=r2+1;

r2=dm(_sample);

dm(_sample_count)=r12;

s2=r2;

bit set mode1 0x200000;

nop;

i1=0x50076;

i4=0x5006a;

m4=0x2;

i0=0x5007e;

r12=dm(m5,i1);

r8=dm(i4,m4);

f4=f12*f8,   r8=dm(m5,i0) ;

f8=f4-f8, r4=dm(i4,m4) ;

f12=f2 + f8, dm(i0, 0x2)=r12;

dm(i1, 0x2)=r12;

r12=dm(m5,i1);

f4=f12*f4, r8=dm(m5,i0);

f8=f4-f8, r4=dm(i4,m4);

f12=f2+f8,dm(i0,0x2)=r12;

dm(i1,0x2)=r12;

r12=dm(m5,i1);

f4=f12*f4, r8=dm(m5,i0);

f8=f4-f8, r4=dm(i4,m4);

f12=f2+f8, dm(i0,0x2)=r12;

dm(i1,0x2)=r12;

r12=dm(m5,i1);

f4=f12*f4, r8=dm(m5,i0);

f12=f4-f8, dm(i0,0x2)=r12;

f2=f2+f12;

dm(i1,0x2)=r2;

bit clr mode1 0x200000;

nop;

jump (pc, 0xd3)  (db) ;

r3=dm(0xffffffef,i6);

r5=dm(0xfffffff0,i6);

bit set model 0x200000;

nop;

i0=0x5007e;

i1=0x50076;

i4=0x5006a;

m4=0x2;

r4=dm(m5,i0) ;

f8=f4*f4, r2=dm(m5,i1) ;

r12=0x50086;

f13=f2*f2, r1=dm(i4,m4);

f2=f2*f4, f12=f8+f13, dm(0xfffffffc,i6)=r12;

r0=0;

f2=f1*f2, dm(i0,0x2)=r0;

i2=dm(0xfffffffc,i6) ;

f2=f12-f2, dm(i1,0x2)=r0;

r4=dm(m5,i0) ;

f8=f4*f4, r1=dm(m5,i1);

f12=f1*f1, dm(i2,0x2)=r2;

f12=f1*f4, f8=f8+f12, r2=i2;

r4=dm(i4,m4);

f2=f4*f12, dm(0xfffffffc,i6)=r2;

i2=dm(0xfffffffc,i6) ;

f2=f8-f2, dm(i0,0x2)=r0;

dm(i1,0x2)=r0;

r4=dm(m5,i0);

f8=f4*f4, dm(i2,0x2)=r2;

r2=dm(m5,i1);

f13=f2*f2, r12=i2;

f8=f2*f4, f4=f8+f13, r2=dm(i4,m4);

f2=f2*f8, dm(0xfffffffc,i6)=r12;

i2=dm(0xfffffffc,i6) ;

f2=f4-f2, dm(i0,0x2)=r0;

dm(i1,0x2)=r0;

r4=dm(m5,i0) ;

f8=f4*f4, dm(i2,0x2)=r2;

r2=dm(m5,i1) ;

f13=f2*f2, r12=i2;

f8=f2*f4, f4=f8+f13, r2=dm(i4,m4) ;

f2=f2*f8, dm(0xfffffffc,i6)=r12;

i4=dm(0xfffffffc, i6) ;

f2=f4-f2, dm(i0,0x2)=r0;

dm(i4,0x2)=r2;

r2=i4;

dm(i1,0x2)=r0;

dm(0xfffffffc,i6)=r2;

bit clr mode1 0x200000;

nop;

r12=0;

i0=0x1b;

dm(_sample_count)=r12;

r2=0xffffffc0;

r4=pass r12, r8=dm(m5,i0);

i4=0x50086;

r6=r8 and r2, r2=r4;

r8=r4;

i1=i4;

dm( Leds)=r6;

lcntr=0x4, do (pc,0x6) until lce;

r1=dm(m5,i1);

comp(f8,f1);

if lt jump (pc, 0x90);

f8=max(f8,f1), modify(i1,m6);

r2=r2+1;

nop;

r5=0x4;

r8=pass r12, r2=r5;

i1=0x5008a;

r1=r2;

lcntr=0x4, do (pc,0x6) until lce;

r0=dm(m5,i1);

comp(f8,f0) ;

if lt jump (pc, 0x82);

f8=max(f8,f0), modify(i1,m6);

r2=r2+1;

nop;

m0=r4;

r2=0x41200000;

r8=dm(m0,i4) ;

comp(f2,f8);

if lt jump (pc, 0x7) (db) ;

m4=r1;

nop;

r2=dm(_Leds);

jump (pc, 0 x 7c) (db) ;

dm(m5,i0)=r2;

r3=dm(0xffffffef, i6) ;

r0=dm(m4,i4);

comp(f2,f0);

if lt jump (pc, 0x6) (db) ;

comp(f8,f0) ;

nop;

jump (pc, 0xfffffff8) (db);

r2=dm(_Leds);

nop;

if lt jump (pc, 0x64) (db) ;

r2=0x3e21cac1;

f2=f2*f0;

r2=0x3e21cac1;

f2=f2*f8, m4=m0;

comp(f0, f2) ;

if lt jump (pc, 0x5b) ;

r2=0x3e4ccccd;

r3=r12 + 1, r8=drn (rn4 , i4) ;

f0 = f2*f8, r2=drn(i4,m6) ;

comp(f0,f2), r2=r12;

if lt r2=r12+1;

r8=r2 + 1, r7=drn (i4 ,m6) ;

comp(f0,f7) , r7=dm(i4,m6);

if ge r8=r2;

r2=r8+1, r9=dm(i4,m6);

comp(f0,f7) , r10=dm(i4,m6);

if ge r2=r8;

r8=r2+1, r7=dm(i4,m6);

comp(f0,f9), r9=dm(i4,m6);

if ge r8=r2;

r2=r8+1, r11=dm(i4,m6);

comp(f0,f10) ;

if ge r2=r8;

r8=r2+1;

comp(f0, 11) ;

if ge r8=r2;

r2=r8+1;

comp (f0, f9) ;

if ge r2=r8;

r8=r2+1;

comp(f0,f11) ;

r0 = 0x2;

if ge r8=r2;

comp(r8,r0) ;

if gt r3=r12;

r2=pass r3 ;

if eq jump (pc, 0xffffffd0) (db);

r2=dm(_Leds);

nop;

r2=0x7;

comp(r1,r2);

if ne jump (pc, 0xc) (db) ;

comp (r4,r12) ;

nop;

r2=0x10;

r2=r4 0r r2;

r2=r6 0r r2;

dm(_Leds) =r2;

r2=dm(_Leds);

r12=0x20;

jump (pc, 0xffffffc1) (db) ;

r2=r2 0r r12;

dm(_Leds) =r2;

if lt jump (pc, 0xfffffffd) (db) ;

r2=dm(_Leds);

r12=0x20;

r2=0x3;

comp(r4,r2);

if gt jump (pc, 0xfffffff6);

i4=0x50064;

i12=dm(m0,i4);

jump (m13,i12);

r2=0xfffffffd;

r2=r1+r2;

jump (pc, 0xfffffff0) (db);

r2=r6 0r r2;

dm(_Leds)=r2;

r2=r6 0r r2;

comp(r2 , r1) ;

if gt jump (pc, 0xc) ;

comp(r2,r1) ;

if eg jump (pc, 0xffffffe9) ;

r2=r2+1;

comp (r2 , r1) ;

if ne jump (pc, 0xffffffe8) (db);

r2=dm(_Leds) ;

r12=0x20;

r2=0xf;

jump (pc, 0xffffffe2) (db) ;

r2=r6 0r r2;

dm(_Leds) =r2;

comp (r5, r1);

if ne jump (pc, 0xffffffe0) (db) ;

r2=dm(_Leds);

r12=0x20;

r2=0xc;

jump (pc, 0xffffffda) (db) ;

r2=r6 0r r2;

dm(_Leds) =r2;

r2=r1+r2;

jump (pc, 0xffffffd6) (db);

r2=r6 0r r2;

dm(_Leds)=r2;

jump (pc, 0xffffffd3) (db) ;

r2=r1 0r r6;

dm(_Leds)=r2;

jump (pc, 0xffffffa7) (db) ;

m4=m0;

r2=0x3e4ccccd;

comp (f8, f2) ;

if lt jump (pc, 0xffffffa3) (db);

r2=0x3e4ccccd;

nop;

jump (pc, 0xffffffa1) (db);

r2=0x3e4ccccd;

r3=r12+1, r8=dm(m4,i4);

jump (pc, 0xffffff7f) (db);

r1=r2;

nop;

jump (pc, 0xffffff71) (db);

r4=r2;

nop;

r5=dm(0xfffffff0,i6);

r6=dm(0xfffffff1,i6);

r7=dm(0xfffffff2,i6);

r9=dm(0xfffffff3,i6);

r10=dm(0xfffffff4,i6);

r11=dm(0xfffffff5,i6);

r13=dm(0xfffffff6,i6);

m0=dm(0xfffffff7,i6);

i0=dm(0xfffffff8,i6);

i1=dm(0xfffffff9,i6);

i12=dm(m7,i6);

jump (m14,i12) (db);

i2=dm(0xfffffffa,i6);

rframe;
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